Subject: widget sizing
Posted by Wox on Wed, 10 Jan 2007 13:42:50 GMT

View Forum Message <> Reply to Message

Hi,

Imagine this: you have a base widget, containing a tab widget and one

of the tabs contains a multiline text widget. Since the number of

lines can be too much, | use "ysize=nlines,scr_ysize=200,/SCROLL" when
creating the text widget.

Now the tab widget resizes according to the screen size of the text
widget, but the base widget doesn't. It's still as big as if you
wouldn't use "scr_ysize=200,/SCROLL".

Am | missing something or is this "normal” IDL behavour?

Thanks.
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